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(i) 997 %% 1 § 4 7% agies ueT ¥ uds weT ¥ fg 7 ofe Pruffg ¥
(i) 95T HHi® 5 ¥ 12 7% ofq 9Y Swdg weT ¥ o= @ e 30 o= )

TEE 99T UX 2 3w Frutf ¥
(iii) 997 HH 13 § 16 0% &g I 9o ¥ o= €y w75 st ¥

YOE 99T U 3 ofe Pruffa ¥
(h) 997 %A% 17 b 3o weT &1 gtee ®@19r @uMm 120 sT= 2
0% 4 ofw Fraffa ¥
(V) W FHie 18 ¥ 19 7% i A Il wet ¥1 o S w150 s ¥
TE U T 5 o Praffa ¥
(Vi) 9T FHE S W 19 a8 WS § iaie faee Ry mo ¥
Instructions ;
(1) There are objective type questions from Question No. 1 to 4.
I-ach question carries 7 marks.
(1) Question No. § to 12 are very short answer type questions.
Word limit of 30 words approximately. Each question carries 2 marks.
(iii) Question No. 13 to 16 are short answer type questions.
Word limit of 75 words approximately. Each question carries 3 marks.
(V) Question No. 17 are long answer type questions. Word limit of 120 words
approximately. Question carries 4 marks,
(V) Question No. 18 to 19 are very long answer type questions. Word limit of
150 words approximately. Each question carries § marks.

(viy Internal options are given from Question No. 5§ to 19.

1231/ U-621.A H7 1 INWNENm N [P.T-O,



| P o @ ofy @R 1x7=7

iy @9 & Bl B IR E

(i) UH 91 ¥ usp § orfum you @ aufafa @  HEd B
(iti) iy @ Aale R @ W wHEd o

(iv) e ¥ g B ¥ )

v A g "g2U & Nl 9 g i 9% gwro & wam e
(Vi) UTHiH FAfgg demar Y & gwmw & g fEE S E
(vii) Ta @& faiie wEam Bar &

Fill in the blanks :

(iy  Apple is an example of _ fruit.

(i) Occurrence of more than one embryos in a sced called

(iii) The inner glandular layer of uterus is called B

(iv) Fertilization is taken place in .

(v}  conducted hybridization experiments on garden peas for
Seven years.

(vi) Natural  are obtained from the inflorescences of the plant
Cannabis sativa.

(vii) Pyramid of energy is always

2 UF o= | g™ ¥ 3¢ fafed 1x7=7

(i) & wwtatar T oE AW fatEd |

(i) zEwRE v @ ge few TR g @ W E7

Giiy & T sty ¥ afred ¥ @9 Al didl B gen B #E ded €

(iv) 9ea & fedt U slewic &1 Q@O M|

(v) orfvas &A1 f6d @ed ¥7

(vi) ¥u® gEHl TE w A faiad

(vii) BT F UF o A AN AN B ALCAT F ufierdrm
T FHEAT £ 7

Write answer in one word / on¢ sentence !

(1)  Write name of any on¢ autoimmune disease.

li'll) What is the conformities test of Typhoid ?

(iii) The number of deaths in the population during the given period. What
does it called ?

(iv) Write the name of one "Hotspot’ of India.

(v)  What is molecular scissors 7

(vi) Write the name of first transgenic cow.

(vii) E;:E:dl::‘);h;;;lj::n:,‘]ég}i chuss of copying genetic information of one

1
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3w faew ge 1x7=7

(1)

(1)

(111)

(1v)

(V)

(vi)

(vii)

domfy @ Rrgra fee gl fésar 7

() TEE B (b) WX FF Hved
(c) wed g Fad (d) TA. Ta. @A
A Ry g @

(@) defem sglfaies (b) ©gq

() ¥dww AR (d) 3™

o @ rfeareerar a Rafy & @ FEd E7

(a) wgfa (b) wEET

(c) dfwa Rafy d) T & *F T

a8 IRfar qu & @ ¥ ofeffa s ¥
(a) SHTmEEN Sy (b) wREEEE

(c) TERRIEE AT (d) weEiizan lewdsn
femrasie T @ diwer qar ¥ -

(a) TR (b) wemact

(c) 4R (d) framz (Saa@ dg)

it g oo oM / dww & o g O owes 9§ el 9
B it g ¥ % @ea ¥

(a) JIARH (b) YW

(c) gawre (d) oaeH

AR 1 aE, frd ot ouel T o # I HE I g
Tl &1

(a) I HIfdremrd (b) STETEET BHIfdrEHTd
(c) ®W ®ifdrend (d) TR BT
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Choose the correct answers :
(i)  Who give chromosomal theory of inheritance
(a) Robert Hook (b) Greger John Mendel
(¢) Sutton and Boveri (d) M. H. Swaminathan
(i) Bt poison is formed by -
(a) Bacillus thurigiensis (b) Dhatura
(¢) Bacillus notatum (d) Opium poppy
(iii) Inactive state of embryo is -
(a) Dormancy (b) Morulla
(¢) Excited state | (d) None of these
(1v) Which bacteria converts milk into curd ?
(a) Saccharomyces cerevisiae (b) Lactobacillus
(c) Aspergillus niger (d) Clostridium butilicum
(v) Which of the following gives nutrition to developing pollen grains is -
(a) Ectodermis (b) Middle layer
(c) Tapetum (d) Filament

(vi) All the animals depend on plants directly or indirectly for their food is

called -
(a) Producers ' (b) Consumers
(¢) Saprophytes (d) Decomposers

(vil) Inner mass group of cells which have ability (potency) to produgé tissue
and organs are - |

(a) Spermatocyltes (b) Ectodermal cell

(¢) Stem cells (d) Sertoli cell
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4 gE W e Ed

CA?
(i)  TIeRE
(i) S IHERIBITE
(i) ofsfafes
(iv) defirm
(v) At Tagm
(vi) 9T WE G
(vii) €/ FY T™
Match the columns :

A"
(1) Entamoeba
(i) Jel electrophoresis
(111) Penicillin
(iv) Thalassemia
(v) Turner's syndrome
(vi) Ex-situ conservation

(vi1) Sunken Stomata

5 Wﬂmwmﬂ%%’?'

What do you understand by Triple fusion?

foqem fod ®ed €7

What is emasculation?
6 vwgg fFq wed &7

What is parturition?

FHongA () w/ e

What is colostrum?

1x7=7

tB!
(a) wun wiwifys
(b) WM A Eafam
(c) T TE™
(d) TH X WEEs B IS
(¢) DNA % wusl & @ &N
() afufaafa
() DNA w|uEl W AT
(h)  SgRT

'BI F
(a) First antibiotic
(b) Recessive gene blood disease
(c) Zoological parks
(d) Absence of 1 X-chromosome
(e) Separation of DNA fragments
(f) Amoebiasis
(g) Attached DNA fragments
(h) Adaptation

2
vat / OR:
2

Ayt / OR

5 (R P.T.0
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7 wEEn fepe % arw fafed @ @)

What is the suggested reasons for population explosion? (any two)
A4S / OR
o=t 2 dm dufm AN & T Rl
Write 2 names of sexually transmitted discases.
8 BOD @.30&) s %7 2
What is BOD?
{Yar / OR
T TEE @ owy ¥?
What is Ganga action plan?
9 T owm R 2
What is Cloning?
T / OR
wE W wr 2
What is cry gene?
10 TEE A B Bl ¥ ¥7 B @ wwwr e 2
Write down the causes of AIDS. (any two)
dyar / OR
W # AR fFe awE fem W ¥ 2
Write down the treatments of cancer.
N s R/ 3o 2

What is Histone?
sy / OR
ANTAT, § B AEaeHl oy W 87

Which nitrogenous bases are found in RNA?
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12 W (dgmaEe) fagewor F& &7

What is Pedigree analysis”

Jyar / OR
argreR g RyemgrEan § ofae fafaui
Write down diffcrences between homozygous and heterozygous.

13 st @ omifaa Preqw @fd ) (fF)
Draw schematic representation of Oogenesis.
sy / OR

e (seduw) F E 7 FEs swam fafeg)

What is amniocentesis? Write its uses.

14 = g (qhared whew) ®n E7 saer oM@ whreww qufEd 3
What is test-cross? Show diagrammatic representation of it.
g / OR

et & war @ Awikea R IR

Draw well labelled diagram of Miller's experiment.

15 PpolY & Uerew qdr ¥ & FaT @ U & o ffad 3

Write measures which is useful for prevention and control of alcohol and
drug uses in adolescence. https://www.mpboardonline.com

aqar / OR
¥a o » w7 A gEa fpe a@ R H@ E7

How microorganism is act like a biofertilizer?

16 vafawr & 99 v orda Fra & A A e 3
Write down about any 3 main abiotic factors of environment. _
Jyat / OR
e w4 ¥ 7

What is decomposition?
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17 ogetie g2 &t faswar R 4

18 g7 DNA s % faftes oo R

19

Write down salient features of genetic code.

sva / OR
T WS A M A A wex F oy wowe wEgER B9 gl
ﬁmmm&stﬁﬁ%m‘mmﬁnmlﬂ@ﬁmmﬁﬁw
U Wt W @ wEma § P

Find out the ﬁhenotypic ratio of offspring found in F2 generation, when
homozygous vellow and round seed of pea plant cross with homozygous green
and wrinkled seed plant. With the help of checker board.

oy

Write down several steps of recombinant DNA technology in sequence.
Hyar / OR

(a) SETITELEl

(b) wfre=m 3=mEm

Write short notes on -
fa) Biopiracy

(b) Restriction enzyme

% Ao & 9Rd &1 gue #ifig
Explain the ecosystem of pond.
g / OR
T wEA 9T few ave urRdl @ SemR e ¥7 @

Pescribe the ecological succession on bare rocks.

th




